F4 | BERBE/NFAELGERFISARS LE7TOVIBEREIUN)—

BES| £F F—4 e | R | 2& &8 | fEH2
10 | #&&7T FIAFRE A =2 6 5-6%F BEFI/NA/MNB

590 | A& |FIFY2=7FEL]| FIAF 2 3 B F34F 80m

591 | PA | FI/FYa=7FEL| FIrF =2 3 B F3F 80m

592 | K [FFY2=7FEL]| FIIF 2 4 BF4F |00m

593 | Fik | 2=7FEL| FrF =2 4 BF4F 100m

594 | BEA | FIFRFY2=7EL| RAF ) 4 BF4F 100m

595 | f8 | FIFY2=7FEL| FIrF 2 4 BF4F 100m

596 (E~K|FFT2=7FEL]| FIIF ) 5 BF55F 100m

597 | R |FIFY2=T7EL| RS =2 5 BF55F 100m

598 | Wi | A 2=7KEEL| FKF 5 5 BF55F 100m

599 | Ik R/ 2=7FEL| FrF =2 5 BF55F 100m

600 | BH |FFY2=7FEL| FIF 5 3 ZF 3% 80m

601 B | #MEY2=7EL| FF 58 4 ZF45F 100m

602 | $\@E |FMFY2=THEL| FIFF 5 5 ZF5%F 100m

637 | —1& BAAEAC b & 5 4 ZF45F 100m

638 | BA BAA&AC b & 5 4 ZF45F 100m

639 B BE&AC fib& 54 4 | &FLE TNy IR—ILERIT

640 | & BAAAC L& 5°8 5 5-6F ¥FI/N1/M B

641 | 1E£Bk BB AAC b & 5°8 5 5-6%F LFI/N 1/ B

642 |~ K BBS&AC (= 58 5 5:-6F &FayN 1+ A

643 | &IE BAAAC b & 58 5 5-65F &FI/N 1/ B

644 | ¥E BAEAAC L& 5°8 6 5-6F LFIN /N A

645 | PR BAAAC b & 5°8 6 5-65F &FI/N 1/ B

646 | 2B BAAAC Wb & 5°8 6 ZF65F 100m

80 | BE | KA7ATI— | FFE 2 5 BF55F 100m 5-65F ES& 4x100m L-
8l | ¢t | KR7HT3I— | FlKF 2 5 5-68F BFI/N1/MNB 5-6F BFKLF 100m
82 | B2 | KR7AhTI— | #KF 2 6 BF6F 100m 5-65F ES& 4x100m L-
83 | 1Lk | KR7HTI— | FKF 5°8 6 ZF65F 100m 5-6F EE 4x100m L-
84 | IRA | KFa7AhHT3I— | #KFF 5°8 6 5-6%F &LFI/N 1/ B 5:-6F ¥£FKEF 100m
85 | £k | KFa7AHTI— | #FIFF 5°8 6 5-65F €FI/NA/MNA | 5-65F BE 4x100m -
438 | H38 | Kfa7h73I— | #@F 2 3 B F 34 80m

439 | 5K | Kfa7hT3I— | #IF 2 3 B F3F 80m

440 | B KRa7hT3I— | #KFF 2 4 BF4F |00m

441 | KT | KFa7h53I— | #lF 2 4 BF4F 100m

442 | /M KRF7HT I— Gl B 4 BF4g EMEB

443 | & KRa7hHTI— | FIFF 2 4 BF4F 100m

444 | fFEg | Kfa7hT3I— | #IF 2 4 BF4F |00m

445 | X2 | Kfa7h7r3I— | #IF 2 5 BF55F 100m

446 | 38 | Kfa7h73I— | #@F 2 5 BF55F 100m

447 | FE | Kfa7hTI— | #EF 2 5 BF55F 100m

448 | EF | Kfa7h73I— | AAF ) 5 5-6%F BFI/N 1/ B

449 | $)| | Kfa7h73I— | #F 2 6 BF6F 1000m

450 | 4% | KFa7h73I— | #lE 5°8 3 ZF3%F 80m

451 | F# | Kfa7h73I— | #F 58 3 ZF 34 80m

452 | k@ | Kfa7hT-3I— | #IAF 5°8 3 ZF34%F 80m

453 | BB | Kfa7h73I— | #F 58 4 ZF45F 100m

454 | EE | KR7AhATI— | FAF 58 6 ZF6%F 1000m

718 | BBR iLEkEL L& 5os 4 ZF45F 100m

719 | &k WLEkEL b & 58 6 ZF6F 100m

720 | BE ILEkEL L& 5os 6 ZF65F 100m




567 [MA&K| RBBEIZFT (= U2} 4 | BFLE JeNYyIR—ILRT

568 |At+&A| H®RAREIZT fib& 2 4 |BFLE JeNYyIR—ILERIT

569 | 4 wAaR"IZ>7 b & 2 6 BF65F 100m

570 |A+&A| H®RARIZFT fib& 3 6 BF64%£ 1000m

571 | %4 wAaaIZ7 b & 58 3 ZF35F 80m

572 | M wBEBIST fib& 54 3 ZF3F 80m

201 | —B | S>F+—X/\1{ | L& 2 4 BF4%F 100m

202 | == | S>F—X/ 1 | L& 2 4 BF4F 100m

203 | m®B | S>F+—X/1 | L& B 4 BF4F 100m

204 | ERR | S>F—X/N A | L& 2 4 BF4F 100m

205 | EF | S>F—X/\ M | L& B 5 BF55F 100m 5-65F BFKLF 100m
206 | & | S>F+—X/1 | W& 2 5 BF5% 100m 5-6F E& 4x100m JL-
207 | BIEE | S>F—X/\ 1M | L& B 5 BF55F 100m 5-6%F B4 4x100m L-
208 | & | S>F—X/NA | L& 2 6 BF64F 100m 5-6%F JE& 4x100m JL-
209 | MB | S>FH—XA | L& B 6 BF65F 100m 5-6%F B4 4x100m L-
210 Fﬁiﬁ‘ S+ —XnA | e 2 4 ZF45F 100m

211 | =3 S>F—=ZNA | L& 58 5 ZF5% 100m 5-6%F E& 4x100m L-
212 | & S>+—XnA4 | L& 58 5 LZF5% 100m

213 | WE | S>F—X/N 1 | L& 54 5 ZF5%F 100m

214 | fopk | S>F—X/N1{ | L& 54 5 ZF5F 100m 5-6%F E& 4x100m JL-
215 | Tk | S>F+—X/\1( | L& 58 5 5-6%F LFI/N A/F B 5-6F ZFK%F 100m
216 | wll S+ —ZA | (L& 58 6 L F6F 100m 5:64F E& 4x100m JL-
217 | RHFE | S>F—X/N 1 | L& 58 6 ZF65F 100m 5-6%F E& 4x100m L-
442 | PIER S+ —=Z\A (= 58 3 %ZF3%F 80m

721 | EBE | S>F—X/N1 | L& 2 3 B F34 80m

722 | KRB S+ —=Z\A (= CE} 3 B F3%F 80m

723 | A | S>F—X/N1 | L& 2 3 B F34 80m

724 | FAER S+ —=Z\A (= CE} 3 B335 80m

725 | @B | S>F—X/NA | L& 2 3 B F34 80m

726 | B3 | S>F—X/N 1M | L& 2 3 B 734 80m

727 | 5% | S>F—X/N 1 | L& 2 4 BF4F 100m

728 | mopk | S>F—X/NA | L& 2 6 BF65£ 1000m

729 | & S>F—A | L& 2 4 BF4F 100m

730 | KR | S>F7—X/1{ | L& 2 4 BF45F 100m

731 | 20O SoF—=XnA | W& UZ} 4 |[BF4E IoRYyIR—ILEZT

732 | B | S>F—X/N 1 | L& 2 5 BF55F 100m

733 | &k | S>F—X/N 1 | L& 2 5 BF55F 100m 5-6F BFAKLF 100m
734 | B3 | S>F—X/N1{ | L& 2 5 BF55F 100m

735 | B3 | S>F—X/N 1 | L& 2 5 BF55F 100m

736 | Al | S>F—X/NA | L& 2 5 BF55F 100m

737 | RE | S>F—X/N1( | L& 2 5 BF55F 100m

738 | AR | S>F—X/N1 | WM& 2 5 BF55F 100m

739 | £k | S>F—X/N 1 | L& 2 5 BF55F 100m

740 | &K | S>F—X/N1{ | L& 2 5 BF55F 100m

741 | $8B | S>F—X/N1( | L& 2 6 BF64%£ 1000m

743 | BB | S>F—X/N 1M | L& 2 4 ZF45F 100m

744 | BH | S>F—ZX/NA | WLE 58 5 ZF5%F 100m

745 | #)| | S>F—X/NA | L& 54 5 ZF55F 100m 5-6F LFK4EF 100m
653 | KRB T A R E I fib& 2 3 B F34F 80m

654 | & TV F R E I b & 58 3 ZF34% 80m

655 |1E7x K| TVFREM fib& 2 3 B F34F 80m

656 | =ik T A R E I, (= 8 3 B 734 80m

657 | 1Lk T A ZE IR fib& 2 4 BF4F 100m




658 | {7k T A 2= IR & 2 4 BF4F |00m

659 | AR T F X E K b & =2 4 BF 4% 100m

660 | /K T A 2= IR & 2 4 BF4F |00m

661 | £m@ T) 7 2 E I b & 2 4 BF4F |00m

662 | Ei2 T F X E I b & 2 5 5-65F BFI/N 1/ B

663 [fErAKR| TVARXEIR b & 2 5 BF5% 100m

664 | 1Lik T % 2= IR & 2 5 BF5% 100m

665 | B T F X E K b & 2 5 5-6F BFI/N 1B

666 | K T)7* A E I, (s 2 5 5-6F BFI/N AN B

667 | HEO T A X E K b & 2 5 5-6%F BEFI/NA/MNB

668 | AH T % 2= IR L& 2 6 BF64& 1000m

669 | £m@ T) 7 R Ik b & 58 3 % F 35 80m

670 | Tk T % 2= IR L& 5 4 ZF4F 100m

671 | i T') A 2 E I (= % 5 %ZF5%F 100m

672 | =% T)7* A E I, (s 5°8 6 5-6F &FI/N 1M B

673 | 1Rk T ) F R E K Wb & 5 6 5-6%F LFI/N1/F B

674 | FHk T A 2= IR L& 5 6 ZF65F 100m

675 | Hik T ) F R E K b & 58 6 ZF65F 100m

132 | FaIER TA)—ML&E e 5 3 B F3%F 80m

133 | 88 | 7XY—MLE | L& 2 4 BF 4% 100m

134 [fE<K| 7R)—MLE | WE 2 5 BF54% 100m

135 | K% | 7RY—MLE | WLE 2 6 BF6F 1000m

136 | 2R | 7R)—MLE | WE 2 6 BF 6% 100m

137 | PalER 72— MlL& (s B 6 5-65F BFayN 1/h B

138 | 2R | 7R)—MLE | WE 5°8 4 ZF4F 100m

139 | K | 7RY—MLE | WLE 5°8 4 ZF45F 100m

140 | A& | 7R)—MLE | WE 5°8 6 ZF6F 1000m

351 | FIER | 7RY—MLE | WLE 5°8 4 ZF45F 100m

352 | fIER | 7RY—MLE | WE 58 6 ZF65F 100m

28 | &H STARTLINE | L& 2 5 BF55F 100m 5-6%F E& 4x100m YL-
29 | £H STARTLINE | L& 2 6 BF65% 100m 5-6F EE 4x100m L-
30 | Fiug STARTLINE | L& 2 6 BF65F 100m 5-6F BF KL 100m
31 | AR STARTLINE | fL& 2 6 BF65%F 100m

32 | st STARTLINE | L& 2 6 BF65F 100m

33 | FER | STARTLINE | L& 2 6 BF65%F 100m 5-6%F BEF KL 100m
34 | E®E STARTLINE | fL& 5°8 5 ZF5% 100m 5-65F EE 4x100m L-
35 | wfE | STARTLINE | L& 5°8 5 ZF5%F 100m 5-6F EE 4x100m L-
36 | & STARTLINE | fL& 5°8 5 ZF5% 100m 5-6F EE 4x100m L-
37 | 2& STARTLINE | L& 5°8 6 5-6F ¥FI/N 1/ B 5-6%F ZF KT 100m
38 | f&ik STARTLINE | L& 54 6 ZF65F 100m 5-6F LFKEF 100m
39 | B | STARTLINE | L& 5°8 6 5-6%F €FI/N1/F B | 5-6F BE 4x100m 'JL-
|78 | Hopk STARTLINE | L& 2 5 BF55F 100m

179 | K¢ | STARTLINE | L& 2 5 BF54% 100m

180 | 1£Bk STARTLINE | L& 2 5 BF55F 100m

181 | %% | STARTLINE | L& 2 5 BF5% 100m

182 | #Ek STARTLINE | L& 2 5 BF55F 100m

183 | #/& STARTLINE | L& 2 6 5-6%F BFI/N A/ A

184 | BF2 | STARTLINE | L& ) 6 5-6%F BFI/N 1/ B

185 | K& STARTLINE | L& 2 6 5-6%F BFa/N 1/ B

186 | =3 STARTLINE | L& 2 6 BF6F 1000m

187 | F&@ STARTLINE | L& 2 6 BF64£ |000m

188 [ k)| STARTLINE | fL& ) 6 5-6%F BFI/N 1/ B

189 | L= STARTLINE | L& 2 6 BF64%£ 100m




190 | /\$#% | STARTLINE | L& 2 6 BF65F 100m 5-65F SE& 4x100m 'L-
191 | B4k | STARTLINE | L& =2 6 BF 6% 100m 5-6%F SEA 4x100m YL-
192 | FaIER STARTLINE | L& 2 6 BF6F 1000m
193 | & STARTLINE | L& 5° 5 ZF5%F 100m
194 |/N8FF| STARTLINE | fL& 58 5 ZF5% 100m
196 |{£<AK| STARTLINE | {L& 54 6 5-6F &FayN 1/ B
353 | &\ STARTLINE | L& 58 5 ZF5%F 100m
356 | 2@ STARTLINE | L& =2 4 BF 4% 100m
357 |f£<#A| STARTLINE | L& ) 4 BF 4% 100m
358 | =H STARTLINE | L& 2 4 BF 4% 100m
359 | #EF STARTLINE | L& ) 4 BF 4% 100m
360 | K | STARTLINE | L& 2 4 BF 4% 100m
361 | 28 STARTLINE | L& B 4 BF4F 100m
362 | WA STARTLINE | L& =2 4 BF 4% 100m
363 | £mH STARTLINE | L& ) 4 BF 4% 100m
364 | miE | STARTLINE | L& 2 4 BF 4% 100m
365 | #% | STARTLINE | W& ) 4 BF 4% 100m
366 | 7% | STARTLINE | L& 2 4 BF 4% 100m
367 | A3z | STARTLINE | L& 5 4 ZF4F 100m
368 | £k STARTLINE | L& 2 4 BF4F |00m
369 | TA STARTLINE | L& 2 5 BF54% 100m
370 | &% STARTLINE | L& 2 5 BF55F 100m
371 | == STARTLINE | L& 2 5 BF54% 100m
372 | & | STARTLINE | L& 2 5 BF5% 100m
373 | A& | STARTLINE | L& 2 5 BF54% 100m
374 | A4t | STARTLINE | L& 2 5 BF5% 100m
375 | K= STARTLINE | L& 2 5 5-6%F BFIN 1A
376 | & | STARTLINE | L& =2 5 BF5% 100m
377 | &wEE | STARTLINE | W& 2 5 BF54% 100m
378 | & STARTLINE | L& 2 5 BF5% 100m
379 | A& | STARTLINE | L& 2 5 BF54% 100m
380 | Ei& STARTLINE | L& 2 5 BF55F 100m
381 | 1&# STARTLINE | fL& 2 5 BF54% 100m
382 | thug STARTLINE | L& 2 5 BF55F 100m
383 | % | STARTLINE | L& 2 5 BF54% 100m
384 | i=mpk STARTLINE | L& 2 5 BF55F 100m
385 | #&I STARTLINE | L& 2 5 BF54% 100m
386 [#&~AK| STARTLINE | L& 2 5 BF55F 100m
387 | 3k& | STARTLINE | L& 2 5 BF54% 100m
388 | E#k STARTLINE | L& 2 5 BF55F 100m
389 | &H STARTLINE | L& 2 5 BF54% 100m
390 | ==& STARTLINE | L& 2 5 BF55F 100m
391 | FE | STARTLINE | L& 2 5 BF54% 100m
392 | 2 STARTLINE | L& 2 5 BF55F 100m
393 | % | STARTLINE | L& 2 6 B F64£ |000m
394 | £F STARTLINE | L& 2 6 BF65F 100m
395 | £ | STARTLINE | L& 2 6 BEF64&£ 1000m
396 | B2 STARTLINE | L& 2 6 BF65F 100m
397 | EF STARTLINE | L& 2 6 BF 65 100m
398 | *% STARTLINE | L& 2 6 BF65F 100m
399 | kR STARTLINE | L& 2 6 BF64%£ 100m
400 | BRF STARTLINE | L& 2 6 BF65F 100m
401 | BH STARTLINE | L& 2 6 BF64%£ 100m




402 | = STARTLINE W& 8 6 BF6F 100m
403 | ZFpk | STARTLINE | L& 5 6 EF 65 1000m
404 | #ogk | STARTLINE | W& 3 6 2365 1000m
405 | AL STARTLINE e 2 6 BEF6%F 100m
406 | AA&F STARTLINE W& 8 6 BF6F 100m
407 | fopk STARTLINE e 2 6 BEF6%F 100m
408 | Z@& | STARTLINE | W& | % 4 LF4F 100m
409 | a7 STARTLINE e 58 5 LZF5%F 100m
410 | /IR STARTLINE e 58 5 LZF5F 100m
41| =12 STARTLINE S 58 5 LZF5%F 100m
412 | FE | STARTLINE | L& 7 5 ZF5%F 100m
413 | /I STARTLINE S % 5 LZF5% 100m
414 | f£8 | STARTLINE | L& 7 5 ZF5%F 100m
415 | AH STARTLINE S % 6 LZF6F 100m
416 | B35 STARTLINE e 58 6 L F6F 100m
417 | BR STARTLINE S 58 6 L F6F 100m
418 | JBE STARTLINE e 58 6 ZF6F 1000m
419 | &2 STARTLINE S % 6 L F6F 100m
420 | B2 | STARTLINE | L& 7 6 ZF6F 100m
421 Ha)| STARTLINE WE 58 6 5:-6F LFIVN AN A
550 | {Rik Pchans s 2 3 B F34 80m

551 | &5 Pchans fib& 2 3 B 734 80m
552 | &)l Pchans (= 2 3 B F3%F 80m
553 | K& Pchans b & 2 4 | BFLE JeN)yIR—ILERT
554 | @4t Pchans (= % 4 |[BF4E IeRYyIR—ILIZT
555 | 1&pk Pchans s 3 4 |BF4E VeN)yIR—ILIRT
556 | it Pchans e B 4 | BFLE JoN)yIR—ILERT
557 | &5 Pchans b & 2 5 5-65F BFayN 10 B
558 | B Pchans (= 2 5 BF55F 100m
559 | ZME Pchans b & 2 6 5-6F BFa/N A/ B
560 | {&pk Pchans s 2 6 5-6%F BFIUN A1/ B
561 | B Pchans b & 54 3 ZF34% 80m
562 | LR Pchans e 58 3 %ZF3F 80m
563 | LHE Pchans b & 54 3 ZF34% 80m
564 | {Lpk Pchans fibh& 58 3 ZF3F 80m
565 | B Pchans b & 54 4 ZF45F 100m
566 | LER Pchans e 58 6 5:-6F &FayN 1+ A
26 i OAC W& CE} 6 EF6F 1000m
27 A OAC e 5y 6 5:6F LFI/N AN A
801 ER Fl W& CE} 3 B F3%F 80m
802 | BR Fl W& 58 5 ZF5%F 100m




